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(1)

(Numbers game )

SHdent S MAMES civisisinsinssesiiiissssiaviaesresssssniswetssiies

Class & ovvveeernnennreneanes

*Use the following numbers to answer the following :

( 0.08 0.21 1242

=10+2+0.4+0.02

2) in 734.28 the digit 8 its value is ....ccoviiiiiiiiiiniinninan,

3)57x10=

4)1.23-1.02=

5) 8 thousandths - 5 thousandths=..........cc.cecvvvvveieeee.. Thousandths .
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(2)

( Mangrove Roots )

STHIENS INEINE 3 ciivivisiniisssdassrsiiters s isiisissserssavinis

CIa88Y + o i visisarsrnusses

In one garden nada digs a hole to plant a mangrove seeding every 4 days in a second

garden she plants a seedling every 6 days . If she plants seedlings in both gardens today .

1) The first seven Multiples of 4 is

2) The first seven Multiples of 6 is

3) The Common multiples of 4 and 6 is

4) The L.C.M. of 4 and 6 is

J.L.-:.‘.] Lb) ..JL&ﬂT 4=l e...nﬂ_s‘. mo/;l.x.ﬂ
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(Numbers and Statistics)

SIS INEINE 3 ciivivisiniisssdsssrsiisrs s issisisssessisavinis

Mazen is planning a trip from Cairo to the waterfall region in Wadi El-Rayan . He will

travel 147.72 Km .

*Complete :

1) Put the number 147.72 in the place value chart :

Hundreds . Hundredths

| d2) ap

2) The Decomposed form for 147.72 is

3) The Round of 147.72 to the nearest tenths is

4) If Mazen stops in a station after 110.12 Km what is the left distance ?
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(Clothing shop)

Student's Namie & ... iieeiceeecseassasasnnnaas

Omnia has two strips of cloth. One is 35.6 m wide and the other is 75.12 m wide .

1) If she has 10 pieces of the first strip of cloth, how many meters she need ?
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(3)

(Giza Pyramids )

Student's Namie & ... iieeiceeieseassasasnnnaas

While visiting Giza pyramids with the help of the tour gunide you recorded the following

data:

1) The height of the three pyramids as follows:
45.057 3 ’
*The Ascending order of the three pyramids is:
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2) The height of one pyramid is 50.100 km and the height of the second is 20.001 km find

the sum of the height of the two pyramids is

3) The expanded form of 45.05 is

4) During the trip you ate 5 sandwiches for lunch each sandwich costs 20 L.E. , How

much did you pay for the sandwiches ?
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(6) '

(Suez Canal)

Student's Namie: ...t iiiiicieeensnssienasansean

At the north edge of the Gulf of Suez lies the Suez Canal. The length of the Suez Canal is

24 km.

1) List the factors of 24

2) Find the value of N

3) Find the G.C.F. of 8 and 10.

4) Factorize 24 to its prime numbers.
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